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1.

‘AR, FCHTET WIF AR —
B oo TEd 99 (@R W5
GieS (2 WeR ?

‘Recycle, reduce and reuse’ are
involved with which of the following?

(@) oo SRS aRErE [

Solid waste management -

() < e e O

Sewage management

) == e [l

Water management

(@) Siara Tww Tegem [

Fossil fuel management

ety o Seey Frfde 3k 1R
il _

Refrigerator and air conditioners
cause

(@) e aEs O
thermal pollution

(b) % e O

sound pollution

() g emr U

air pollution

(d) =6 i [

soil pollution

/1446-B

3.

Yu% (BUUER Shva TS ___ B Y
Tq whw IR wRws Wy RE
oefar FefaR evEs PR St 9
Cafemt |

On 16th September, 1987, the
was agreed to control the emission
of ozone depleting substances.

{a) W 2w O

Montreal Protocol

(b} FrocEe efscam O
Brundtland Report

{c} e camarig [

Rio Declaration

{d) @oa «Bie = L]

None of the above

wREAls s e SLIE LA
AT oot 4l AN 2 ‘

In India, the force deployed

for tackling threatening disaster -

situation is

() <. . == 9%, O
NDRF

) B. =R PLoaw. O
CRPF

c) @, f6. a1.9. O
NDMA

(@) =4, 9. 9%. [
RAF

5.

CITES 3 ¥ &7 [is3
CITES basically deals with

(@) (@A ARG TP A4

AT o fTRT W 2
sat L '

protection of wild planfs
and animals from illegal
international trades

(b) FvedTsEwy [

conservation of wildlife

{c) TRPER WF WRPERS  RAS
e [

in situ and ex situ conservation
(d) erg e wm [

None of the above

‘(T OB IFTS T B WS |

‘The Red Data Book’ keeps the

records of

fa) 2 Rem genfs [
near-threatened species

(b} g gefe [l
endangered species

(c)\?ﬁ?ﬁﬁ% :|:|

endemic species

(d) SR GBIS WH O

None of the above

/1446-B

TIAEe (TA (SN W A T

The number of biogeographical
zones of India is '

(@ v O
8
p) e [
5.
@ > O
12
(d) so [
10
e W TomFEh! T

The components of biodiversity are

() f&am o gwfesrs (b [

genetic and species diversity

() Bm, oS, -nREee 9=
wefes @ O

genetic, species, ecosystem and
molecular diversity

{c}.f@tﬁm, sefeere  we  AIRERSS
whtaw [

genetic, species and ecosystem
diversity '

(d) eqq «hre 7=y [

None of the above

[P.T.O.



0. w%@rﬂ@ﬁmaﬁcﬁ’mwm?

100

Which one of the following is
a secondary pollutant of air?

(a) IETTIHREE [

Carbon monoxide -

(b} fewm O
Mcthane

() g [

Smog

(@ ¢ O

Smoke

W TS WS ool iR
SRR [ @ =2

Ecological succession, which starts

"in a dry area, is knowm as

() = e

hydrarch

(o) Vo8 s [

mesarch

o) Wu@sﬂq O

Xerarch

(d)ﬂa»‘\gﬁ O

desert

'/1446-B

11.

12.

W T e wies ewd @m
SR i 7' |

Lung disease of miners is caused

by

(a) om0

uranium mining

) o= [

gold mining

() dwm e [

coal mining

() &R «hre 7=y []

Nohe of the above

SR (7% BB hot spots forE 31
(€103

Three hot spots of our country are

(@) e, Raem  wE  eRe-
ICAANIRS ey orwee [

Western Ghats, Himalayas and
‘Indo-Myanmar Region

(b)?ﬁffﬁ,ﬁﬂﬂﬂ@ﬁ@ﬁ@*ﬂmw:'

ey o [

Eastern Ghats, Himalayas and
Indo-Myanmar Region

() W,WWWD

Eastern Ghats, Bihar and
Assam '

(d) @, R o wean [

' Kerala, Bihar and Gujarat

13.

14.

15.

Gy A

The greenhouse gases are

{a) CHy, Ny, CO,, NHy [
(6) Oy, CO,y, NHa, NO, [
() CFC, cloz, NHg, N, O
fd) CFC, CO,, CHy, NO, [
wre TS @HRY &) garere! ’

Which one of the
organisms is a herbivore?

following

(@ s O3
Snake

() v [

Deer

) Fam O

Fox

(@ 3w U
Tiger

G Tﬁl 2
A pond is

fo) «f6 R ey O

an ecosystem

(b} b REF g O

-hot dn ecosystem

() = vt o pre [

a vast barren landmass

(@) W’@ﬂﬁﬂﬁ%ﬂ |

devoid of biotic componénts

/1446-B

16. OF© 599Id RS gow @ TUR/

17.

TR AR eI g TR Sand
IS NG F9 217 FB=BR -

To increase consumer awareness
towards reducing environmental

-impact, the Government of India

started a certification mark in 1991
knowﬁ as
@) om0

Green Label

() ¥ e O
EKO Label '

(&:} w oy O
Ece Mark

(@ Dafa [
Green Seal

‘SR *Wh Mg oRET %9
e 9m Lz '

The name of the scientist

who first introduced the term
‘environment’ is

@2 & O
E. J. Ross

b} EE ST 3
Lady Bird Johnson

fc} 1. ﬁTﬁﬁfﬁ L]
P. Gisbert

) (oW HqEEE [
Jacob van Uerkal

[P.T.O.



18. woo SRRe @WRY T g

19,

TR TR 7

Which one of the following is not
a renewable natural resource?

() S8 O

Forest

(b) s o L

Mineral

(0 == O

Water

(@ Forz [
Wind

2R TRRIESHCR 7R w_wm B'e

. The problem created by hydro—'

electric mega dams is
(a) toa [ wfe O
‘loss of biodiversity

®) Fa@ess O
deforestation

{c} e = O

"~ . goil erosion

@ (@)= )@ [
Both {a) and (b)

/1446-B

20. e R i@k 3 wrie e

21.

fsfer AINR AR 27 St

The percentage of freshwater out of

the whole water content available

on the earth is approximately

f@ o U
"3

() 2o []

20

0 > U

(@ »a O
97

soa3 ¥ R e fiors R
Sifet

The theme of the World.
Environment Day’ for the year
2022 is

(a) &=t o< REA@ O
Only One Earth

(b} “W%qimﬁiﬁﬂﬂﬂrTﬁ [

A Tree for Peace

o) 2RAT < e fre O

Give Farth a Chance

(d) weefieer [

Desertification

22. PTE AW TAWA TR A

The number of National Parks

in Assam is

(ap o [
7

(b) ¢ [
5

) v [
6

(@ v [
8.

.ﬁﬂﬁﬁﬁivﬂﬁﬁWIvﬁia @ T TREHES

2RSS 9 C2feE 7

In India, when was the Wildlife
Protection Act established?

:ﬂv'san 4
1972

() ssae []
1973

fc) d»ro O
1983

(d) sees O
1994

/1446-B

24,

e TERe Wi “RER néme’
AT = 7

Which one of the following is called
the ‘earth’s lung'? ‘

| fa) w2PmeE [

Qcean

(b) AguwE [
Atmosphcl:e

(¢ == [

Forest

() Tmam O

Wildlife

25. os TiRe Ry e S 2

Which one of the following is
an example of decomposer?

@ 2 O

Grass

() w1 Ol
Snake

) g1 O
Fungus

(@ csgan L

Toad

[ B.T.O.



26.

27.

951 ﬂﬁmﬁ% THFES MYEATS *ifF 2[RI

RSN B'A

In an ecosystem, flow of energy
usually occcurs in the sequence

| (a) CTRE — Beo@ —

Roes - Boere [

Solar energy — Producer —

Decomposer — Consumer

(b} TS — BeAPE —
Terrere - Rares [

. Solar energy — Producer —

Consumer — Decomposer

() O — Rames -
- Borere — oo [

Solar energy — Decomposer —
Consumer — Producer

(d) e e O

‘None of the above

Reprem 577

Which one of the following species
of Assam is endangered?

(o) cr@ IR [

Golden langur

by T[]
" Tiger

() TR O

Leopard -

(d) =ey [

Vulture

/1446-B

28.

29.

Flaw IwmAE I Tafde e
2 w77

Excess use of synthetic chemical
fertilizers causes

(a) WiHs e [

soil salinity

(b) I egme [l

air pollution

(c) PR @R O

crop diseases

{d) eﬁmanﬁWe?ﬁm E]z

None of the above

o SRS Wy = B SR
TS TR ?

Which one of the fo]loWing energy
sources is not eco-friendly?

(@) a1y *fE Ll
Wind energy

(b) crfe [
Solar energy
ﬁy oaRwavmwsdﬁ*ﬁ§ W
Tidal energy
(@) Fedmafe O

Nuclear energy

30.

31.

<51 AR =g A PR

An ecosystern must have

(@) (ERT ¢ WEke vz O

biotic and abiotic components

(b) E@ﬁ$ﬁﬁ?Wﬂﬂﬂ§§ O

biotic components

fe) wiafe Tomepz. [

abiotic components

(d) e avre =y [l

None of the above

e SRl W Wb ﬂmﬂ-ﬁwﬁw_
TR

- Which one of the following is

an example of a food chain?

(a) Y TR ™ [

"~ Grass « Deer « Tiger

) RoRN>Tw O

Grass — Deer —» Tiger

¢ 2> 9@ o % L]

Grass — Rat — Eagle

() e abre T [

None of the above

/1446-B

32.

33.

‘(1T Tl 99 gl efOBMCD! A

The Red Data Book'is prepared by

" fa) Wi R, P.o9@w, O

IUCN |

b B.wR b2 9. O

CITES

fc) ©fEs. g, wv.. O
WWF

(dy 3T, w0, B, R B [

UNCED

27 e’ RS 1 T e

‘Project Tiger’ was started in the
year

fa) dsay [
1971

() x00s I
2001

f¢) svae. [
1973

{d) wooe L[]
2005

34. oo fHRe TR T TH

Which one of the following is
in sifu conservation?

{a) SRy [

Wildlife sanctuary

(b) T oREd O

Tissue culture

ﬁylﬁﬁﬁﬁﬁﬁﬁﬂ u
Botanical garden -

(@) R O

Gamete

[P.T.O.



35. 5. 1. 0. 29
DDT is a
(a) Bas [
non-pollutant
(b) wtEa wRYg 2w [
non-biodegradable pollutant
fc) o i o [
biodegradable pollutant
(d) &R «Hre v [
None of the above
36. SRCIY @ AFRA AR TS
2?2
Eutrophication is a consequence of
which type of pollution?
() == L1
‘Water
) = O
Soil
¢ 1 O
Air
() == [
Sound
/1446-B
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37. *I%4 4195 (&Y 99F 2H

The intensity of sound is measured
in the unit of

@) cEfofem [

centimetre

{b) cebcam [
decibel

fc) TSR/ O

metre/second

(@) o [l

second

38, w7 TRRE R g corg wbe'e

TR = ?

Which one of the following is the gas
of the Bhopal Gas Tragedy’ ?

(@) Wirem L
Methane '

(b) Rafzw wizpoaes [

Methyl isocyanate

o B.a5 B O
CFC

() I TR - O

Carbon meonoxide -

39.

40,

Teie . 97, 6.9 TamEs e/
@ SiER SieTe e =il
941 2R 7

Undeér which Act, the use of CFC is
banned in India?

(a} “ARe (79%1) WiE, ssve [
The Environment (Protection)
Act, 1986

(b} IBR R T
Wiz, seve [

The National Environment

Tribunal Act, 1995

() AW T TR
HiEe, xedo [

The National Green Tribunal
Act, 2010

(d) =T SR T ()
. ﬁﬁ, RO00 [
The Ozone Depleting

Substances (Regulation and
Control) Rules, 2000

3> RS A A = e
- Which day is

observed on
11th July?

{a) 94 SR it [
The World Population Day

(o) Rox el i [
The World Environment Day

(c) Fuag feem O
The World Health Day

(d) R3O
. The Earth Day

/1446-B
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41, =S TERS @ 9RY SREEE @16 7

Which one of the following is
a communicable disease?

fa) v [

Corona

(p) 35 @ O

Cancer

¢ BrfRfa O
Haemophilia

(d) e [
Diabetes

42. SRS WPRY R IF TERAYE AW

oI |

India has approximately
percentage of ~ the
population. '

WO rl_d s

@ o O

20

d sae O
175

(¢ e O
1

@ sve O
125

[ P.T.O.



43.

44‘

R fooqe S TP 9 I
A AT IR AL A R

The first State in India to enact
Specific Law on Public Health is

{a) ofEE [
Tamil Nadu

) s O

Assam

fc) TeRzoer [
Uttar Pradesh

() El

. Kerala

GIS &% @WTMW af Fep =
< el wnfEen ?

GIS is an effective IT

tool for
which of the following? '

45, T B AR BT T @R

2] A ?

The ozone layer protects the' life
on the earth from which of the

following?

(o) wizagTm i O

Ultraviolet radiation

(b) wﬁaﬁl O

Infrared radiation

(c) Wmﬁﬁl -

. Cosmic radiation

(d) e SbTEeRe . L

All of the above

46. ﬁwﬁmﬁwﬁ%mw@@w B

sl 2=

“The ‘World Environment Day’ is held '

annually on

47. Wcmﬁ’@mqﬁﬁwmﬁ’ﬂ

48.

The main cause of recent global
warming is

fa) one e [

water pollution

- (p) GEEE g ARwe g

increase of greenhouse gases

(0 wwFEs [

ozone hole

(d)wﬁ'@mﬁ O

increase of forest fire

WW’? mmﬁﬂ WO
Afsfs (afee 1

The concept of ‘sustainable
development’ was conceived in the

(@) 3%e e L

50. W ¥R Wﬁ‘ﬁtﬂ

49. WA G AR Rdbe 72 49 30

e s T

The most frequent and major
natural disaster faced by our
country is

(@) o s [

 soil erosion

() ae O
flood

fc) 'g'ﬁﬂ“"’! O
earthquake

(@) e e [

None of the above

qf%w;

Ozone layer depletion increases

(@) oz aer [

{a) TOEE O (@) % 0 Rio Declaration greenhouse effect
Navigation 5th June _ .
' : (p) sfEE T Afdem L] (b} IEEeER BfdsE e [
(b) RHRGD W m ) s A O Earth Summit oxygen concentration in air
Intei'nef browsing - ' 1st Janu ' _ : - ' ' h
_ ary () arteme afdcam O (c) =R w5 @ sweges [
' Brundtland Report skin cancer cases
(c) R TR [ g szraa [ | P cancer cas
' Envi.ronment management 12th June (d) ‘8"[@ e [ ' @) %Q_W . -
' ' None of the above crop productivity
(d) s wnizeeen [l (@) >z [
All of the above 15th May
. * & k
/14468 | 12 /1446B 13

[ P.T.O.



